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I ’nmwn: poypp under (falsely) assumed status and pwirp which are presently unactionable
a  Assumed status: since she never misrepresented herself, pwy1p are valid
If: he thought she was a min> and she’s really a N> or vice-versa
If: he thought she was wealthy and she’s really poor or vice-versa
b Presently invalid: all invalid
If: either of them is not Jewish and he states “pv11p becomes valid when (I/you) convert”
If: either of them is a slave and he states “pPwy1’p becomes valid when (I/you) are liberated”
If: she is married and he gives her pwi1p which will take effect when the husband dies
If: he is/was married to her sister and he gives her pw11p which will take effect after that sister dies
If: she is a b2 MW and he gives her pwyTp which will take effect after n¥’on
Similarly: if his friend’s wife is pregnant, and he gives him pwyrp which will take effect when and if his wife has a girl
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Note: if she was “showing” and indeed had a girl, nvmipn

¢ Challenge (to [b]): n:X mMIN — we may not take mmn from produce still in the ground for uprooted produce or vice-versa
prr 77 if, however, he included the rooted produce to be activated “when it is uprooted” — valid
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reason: anything that is in his control is not considered nwyn 70NN
explanation: in our mwn, why should his conversion be an obstacle to pwy1p (1%t half of case [b i])
(a) answer: a1y cannot convert without a 1-na (v.1) — and he may not find 3 who are willing to participate
challenge: if so, a slave-owner giving a V114 to his nnaw, effective for pw1Tp after he frees her should be valid
(a) answer: she is qualitatively a different “species” afterwards
question: R'YWIR "'s ruling that a man giving his wife a nvo11a to activate pwi1p after divorce should be valid (1)
(a) answer: itisn’t in his control for her to accept his pwviTp
if so: that should settle XYWIR "7’s query re: giving 2 mv19, one for immediate pwyTp the other for the “next ones”
(a) deflection: perhaps since the first w11 are valid, they “carry” the second
supporting N1717713: reiterates 13N "1's position
(a) extension:»ary - even if the 021N weren't ripe (v'9v) and he added that to his condition — valid
(i) qualification (737— version1): this only applies when it is somewhat hard; not if it's utterly soft (inedible)
(if) dissent (901 77): even if it’s utterly soft — (meaning of "DaR” from v. 2)
1. if so: limitation on our mwn — if wife is already pregnant, potential “1p with daughter are valid
a. /7175 only if she’s showing
b. 9o» ’1. even if not showing
(iii) qualification (737- version2): only applies to unirrigated field (needs no more water)
(iv) dissent (9o 77): even if it's an irrigated field (but must be somewhat hard
1. if so: limitation on our mwn — if wife is already pregnant, potential “1p with daughter are valid
a.  both of them: only if she’s showing
(V) observation (»7aX):>"ar1, 171 and n™ agree that a person may sell something which doesn’t yet exist
1. »7ax7: our case
2. 237. v. 3 refers to a man buying a slave and, in advance, freeing him
3. p”7. cases in our mwn (24 half) — all valid
a. note: "1 states that in cases of “death of husband, sister”, banned to maintain good relations
4. question: why not include y™ as per his ruling (1:X’ ©1m) about a woman banning wages on husband?
a. Answer: we explained that, in that case, she banned her hands themselves — which exist
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